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Use additional reading time to go through the question paper, select the questions and decide
on the guestions that you give priority in answering.
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(il) @90 weews BEaUr vged O &5 gdvn g § B 98 taeds B8 emid od BEmel wemad eruegm

(iv) 60 B8 oned 8jes § o gews cueed ¢ eeBdecs Buds, d6 ¢ Bgoluim,

(i) Boc @ gdoicd 8E8nd sowsmim,
sT6060T SlIEEEREGE el SHihk.
Answer all questions. :

(i) 140 eod geooc (1), (2),(3), () BEno sl B8O vl i ogeuvn el BEQC eoid osim,
1 GanLdsd 40 asmpupsion @siGarg efiamaliayb (1).(2).(3),(4) aar aedislL iUl L oflenLSeflsd Ffluirer
Svsog sl Guigphswre allmtanug Laflasis.
From each of the questions I o 48, pick one of the alternatives (1), (2), (3), {4) which you consider
is correct or mest appropriate,

=0a e (X)) cas ewgsis.

o 10d@ supRISLLLGeeT el gharelsd @eaiGanem olamabse 2 fiul aul L.iusalsh o 105
e ulsh Gossdbms @55 alLsH@snGar usiengeow (X) BEs.

Mark a cross (X) on the number corresponding fo your choice in the answer sheet provided.

aflent S Tefel OPILSESESEN SITULHaT6N WwhHmmL HFeYEISHEOHMETHLID HONATIOTS o Flgs Dieubenml
WefLmns.
Further instructions are given on the back of the answer sheet. Follow them carefully. )

can € 1B il om e gy 088 Bdestocs Drles BB R ¢?
aitaumsueneungusit SIUULGeiten LTT @M@l GuUTGSSWwIe! JLD faBanFsy 6157
Which of the following is the correct time signature for the given bar?

M @) 3 ©F @) %
oon s wdn Bl O 088 BderiDcnd gmY wdglien E80 e eduld § a5 S8 @ ¢?
deieumnd Sevs ung  Geoen oph ASCmEsBEG GghU  YmTTEGUIDGS Gameuunen LB
SrOUL Gehsmaupmist emi?
Which of the following rests would suit to complete the given bar according to the time signature?

w 7Y @ 77 H 7 @ 7
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2 o8 desded Bdole el §O v emru@eh ¢?
SO Belar Hlewi_sHe0 gams Beveors e sen GOmrsl Unisst sigsmen?
In the given illustration how many crotchet beats are silent?
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Which of the following notes is five tones below Middle C7
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2 48 «80u0 8l 78 gue 006 vum wemn’ F88a] pdss ¢?
UlsrauheusteuBmistt SruL Geen ebaurSoidbe Gwomy 7 Guweoren srbeuyih egl?
Which note of the following would form a Major 7" above the given note?
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aEZed Wecr 8 Hedded vue ogedB ecdll 8ved ¥os dles’ vom JDHBT e ¢?
Ueumeuseubmist Seb@yr dlensll Hsir sbGysit Biyend SCp (paeumd Qv emsvellelr srhsupTeus) a1g?
Which of the following is the letter name of the note on the first Leger line below the stave of
the Alto clef?

(L A @ C 3) D “ B

g 418 secd golsl vom dSoan Ei? 5@ sy ento giled @ ¢?

UL Hefren  HblereumEnsh Lsdisurhd edeugth E apeugBial vweuBGhs Cosmiguig eigi?
!

Which of the following clefs should be used to make the given note B9

be

e = (2) HE——=5 OF ) M

Fe0d dot ne o cois oein emidam 7
a&Grel eanlans adhsenar Guraiss o clreren?
How many tones are there within any octave?

(1 3 @ 4 3y s 4 6

om® 8 Bderiode ubn denE goce Dyed e8H8s @t ¢?
Heeumeuenaubmiell 955 & FalGaFganys CsrsmiL e0lsseliar Gomg eg?
Which of the following pairs of scales would have the same Key signature?
(1) Bb major/Eb minor (2) F minor/Ab major
(3) C# minor/D major 4) E major/C minor
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16.

2 B So08x3 @8m Jubun uefHS ouitlors dules) p@sl (7
siraurpeusisuimett evweny Lywbies ppemd BeGass sigi?
Which of the following is the 1* inversion of a minor triad?

0

1) =1 @ ¥FFE—1 ® e

2 1S S8 BEOE Gwd ©bin Osles @S (7
Uaaupeuemaibmst  Ueorausd Birssms @bss sihl?
Which of the following is similar to Bilawal Raga?
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Which of the following scales is associated with the given chord?

(1) A major (2y D minor (3) F major (4) A minor
o 301 gubsd & ¢f Jude Bend »dn cATest pe@Bal ¢?
Demugseeauipe sioul@eer Lqwh Beven elaufilug s’

Which of the following would describe the given triad?

I b (2) Ve (3) Vb (4) Ivc

€ o g0 gobnd pom cubce cod Ble@ss, Do Moy AL WOGws TWad 28 64y Cled ¢?

eitaugpeueraubmiet  abHl  GuLedmar  SghsIbCLTE. BeFsslLUBh  absugh Gan.gbe @eidgis

Gty @b ?
Which of the following pedals, when depressed would sustain the notes played?
{1) Unacord pedal (2) damper pedal (3) soft pedal (4) sostenuto pedal

g S exrins Sund mip caves 857 p@ds ¢?
estsugseuseupaet @y Beiten Ba e et ofeuflinig g1’
Which of the following describes the given cadence?
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(2) Plagal cadence in Bb major
{4) Amen cadence in G minor

(1) Imperfect cadence in C minor
(3} Perfect cadence in B major

‘Buoods Bo o grifert @ oni® 8o ¢?
‘anfuyngeries’ aem Suesh ehs augelisd (form @) eigpsin Geiang?
In which given form is ‘Humoresque™ written?
(1) Ternary Form
(3 Rondo Form

(2) Vanation Form
(4) Binary Form

"
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17. 2 18 geomdens ogeits ecries oo 205 98s ¢7 A
Ustaugmeussteubmstt syt Beion gienGiosin Hever afleufilug sgl? M%
Which of the following describes the given ornament? [

(1) Mordent (2) Acciaccatura
(3) Inverted turn (4) Arpeggio

18. Z &8 0:85 no» egdvins e 80 ethinsid enitls B8 womess ¢?
1 RefreugpasateuBuei CimeRd Qanidad Gmisran Cam’. Gevear uvwuaLBHS o meuren BaLsierd sig?
Which of the following cadence is made up of the chords tonic to dominant?
(1) Interrupted cadence (2) Perfect cadence
(3) Plagal cadence {4) Imperfect cadence

19, 500w guls S [ 08y Bowes dxfert nos ¢?
sroeuy il QLeoTd am Leitard r STEiLIGENTed G LUGeugl eresier?

What 1s indicated by a dot above a note I ?
(1) Play the note with an accent (2) Play the note smoothly
(3) Play the note detached (4) Play the note adding half its value to its length

20. 2 g8 &bs onlst dm 80w gres) p@m Digs waadDad ¢f
Uasugpenarsuiimet Sal f Qenend Qanemn. Sassamel sm?
Which of the following is a single reed instrument?
(1) Trumpet (2) Clarnet (3) Oboe {(4) Bassoon

21. Deme OB GHIE0 ik slendll vuwl swED B0 »edm Digs WeDe Jres RS ¢7
HeonsbatLBD abeaydsms ol obhal Cuitus Sprs gead supib Hasssmed sigl?
Which instrument sounds a perfect 5th lower than the played note?

(1} Piccolo (2) Cor Anglais (3) Trumpet in Bb (4) Clarinet in A

22, oobn S enlsl olps wdn snebos Oolest nos ¢?
Uairauhausisuimsi C8gnst Qenadsmed eim?
Which of the following is the drone instrument?
(1) Oboe (2) Mandoline (3 Tampura (4) Sitar

23, 2 g8 w80 aelde B!’ 800 vemsl Sucmne U 80 grensien @ Dogiers’ ¢dedm gimicnd ¢?
srinn @ean  @evst Quwitny BT Lpbus G SossatiudiCurz  aminestauBmiesT  sided

G O Gelienaungy Caladbamipuisns Eips@h? !
Which of these would be heard when the given musical extract is played on a Trumpet in B ?

3 = - : )

24, 2 g8 doce Doy 0 gimdo qElebsiest @Rl ¢f ;
S Baen adafsms Baghoid slsd Geabpe afled efeufidatiog Gsieng?
Which ilustrates the way the given note is piayed?

M ® JJ @)

4)

S
[5 &8 600 Qeao. / uk 5 gl unss [ See page 5
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25, oon Febn R goiwe HH0F e 7
\Testou(heusmsuimist Ffiwimen Salbm 61847
Which of the following is the correct statement?
(1) The Trombone plays the soprano part in the Brass section i
(2) The Piccolo sounds an 8% higher than written.
(3) The Conductor tunes the orchestra. ‘
(4) The Saxophone is an important instrument of the orchestra.

26. & 8 Dused ogenm B0 8e gres 851 p@n dd@em ¢?
&IULE Beiten areALISHIGGH Gurddsiot sflwrel shmb Seabps srdled o 6irergi!
Which of the following would be the correct thythm to match the given sentence?
“Yankee doodle came to town, riding on a pony.”

SRS I T 0 A 5 0 e A A
o 84 JTI DL b

SR e I s s [ RS I P A A’

w 34 JJTTNI VL NI

27. Bsieds S 0idn ndsiest 8 npBn
Peaumpeusisufmen srdled UEhGFT LTRSS ILBID?
Which of the following would use the Banjo?
(1) Folk group (2) Pop group (3) Jazz band (4) Brass band

28. @30 et doow me sduwwed nis miBon Dules’ vwd 2@ ¢?
Seiraimastouhmeh ‘apsssnsouls Gamenpor Bener Suwibfu Geng b pia wHHGoTm Genguimdald

&’

Which of the following is another composition by the composer of ‘Moonlight Sonata’?
(1) Nut cracker Suite (2) Mikrokosmos
(3) Petroushka (4) Fidelio

29. ‘Bogo 93 ¢ obxl BBD Bow ewed ByBnd on dFes’ B REW ¥
Seitaupaamapmet ‘Sndn B & Gpular e LFLedwl um.sb o kel 1By dlaed sigl?
Which of the following musicals has the popular song ‘Singin' in the Rain™?
(1} Mary Poppins  (2) Wizard of Oz {(3) LionKing (4) Sound of Music

30. ‘Bodmtetn’ am enlhi@0 86ide ¢bide eqiers’ RBm vew ¢?
FLILABLT eenime aBisshdEmsd HHb GFmsd a5?
Which term gives the opposite meaning of ‘Ritardando’?
(1) Crescendo (2) Larghetto (3) Vivace {4y Accelerando

31, 2 B J085 'odd® oBma’ 09 ©8830mbuns ea¢sbdes 00z ¢?
Gesmupaenaupmet LGmagmd Buyds 2 L& Osriilseng Goms qssb sg)? ;
Which of the following compositions is not associated with ‘Programme music™?

{1) Pastoral Symphony (2) William Tell Overture
(3) Scenes from childhood (4) 1812 Overture

32, ‘Hecol B gt By woduww cum ngnn goens’ mEU ¢
WarumGaunflsy ‘Henuiy 19 et Bt Bevs by w?
Which of the following is the composer of ‘Clair de Lune’?
(1) Liszt (2) Debussy (3} Gershwin (4) Schumann

[ 64 B0 Res. / 1k, 6 gl uthds / See page 6
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33.

34.

35,

36.

38.

39.

008 Bowd bdes’ 85 s ¢?

teraumeusiouBmish [BIL. B L0 sigl?

Which is a song from a Nadagam?
(1) Suwanda Padma (2) Danno Budunge
(3) Shantha Johnge Weediye Kade (4) Wasana dineki

B DBTeds’ Bund miy eRvles Sud wulidoned ¢B8m ausda ¢?
Ueisugpaueraubmiet abd pssdar blogh afgh SgmsT awrnbded alafidalinGang?
Which animal’s gait is described in the Thuranga Vannam?

(1) Horse (2) Rabbit (3) Elephant (4) Snake

Renmtic mBes Drert 8% »OdE ¢7

UsdisupoueiiauBine gOloedlged Sibsb g7

Which is an orchestral composition?
(1} Liebestraum (2) Gollywog’s cake walk
(3) Lohengrin {4) Bolero

Z 5B woBozost ool &l ©ddos udn Bl emcEddes mbed:s ?
Uleeumpld e s d@EIaaisy greh Beauj el OgTLfldbeongeul wii?
Which of the following composers is not associated with Jazz music?

(1) Louis Armstrong {(2) Prokofiev

(3) Scott Joplin (4) Duke Ellington

ans cuselin ol Dol grmne e o7
Ladreucn ausouBmist  LIGIPWITEN oy stsl?
Which of the foilowing is a false statement?
(1) MIDI is a standard way of connecting one keyboard with another.
(2) Synthesizers can record, edit replay music.
(3) Dls wse a mixing desk to combine different tracks.
(4) Sampler is a picce of equipment that can record, process and playback bits of sound

OB aBumvens vl Ba Belq 8 fedsient wwm § g8 R8@m Bdmenyd ¢
Ulsirsupevemsudpslt weaGlLmedls geindsd Qugkursl UWeLGSsUUBE proyuseliar atialismamis
@EOGGugE ami?
Which of the following states the number of strings commonly used in a mandolin?

(1) Four double metal strings {2) Five single strings

(3) Six single strings (4) Eight double mefal strings

Bment o@w ©nBn mom 8 o @ ¢?
tlefianpeusraubpyst 1JunGam wirhdird wweuBdssiubGd e sbsh aml?
Which composition uses only the Piano?
(1) Blues (2) Swing (3) Ragtime (4) Be Bop

¢ 98 Snlin 8 B0 d»d ool emddes I3 wOcE ¢7
Usheumsusisupmist Lobdnh 8¢ 2 fidseiarss agi?
Which of the following does not belong to a Drum kit?
(1) Floor Tom (2) Ride Cymbal (3) Tom tom {4y Conga drum

A
[7 &6 80D Beaw. / ub. 7 gl uilshs [ See page
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w@oBww (4ede») I il
grdHD (CwsmeodBsur) I, 11
Music (Western ) | I |

waBrmca (gecle) / sridsn (Bwamssw) / Music (Western) 11

( 1 o oGex ad® A m B emnodiEs gdm ecp 88 eminewnm, g cond BEnd: e0® ogsed & wowwdn,
b1 ey sileonr 20w usd A, ueH B esuaplsnbs Sselyend olombsmms OEflobFiml, 66HeRIbITS
whp olenssanhd @sstaitaotu oiml HHs.
Answer five questions including question No. 1 and selecting two questions from each of the parts A and B
on this paper iself.

[ S gomes [ siGiew /Index No. ..o j

For Examiners’ Use only

{41) Music (Western) H
Part Question No. | Marks Awarded
. | Final Mark
[ln Numbers
2
tln Words
A 3
5 Code Number
Marking Examiner
B 6 :
Marks Checked by:
7 | 2
Supervised by
Total

oy

| § &5 800 Regde / vb. § gol wiiids / See page 8
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Study the musical extract given below and answer the questions.

Allegro
{ ee=a N Db N N b ; |
P ! = - 5 _ﬂ A s S N ) o o — O —
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N . it 7 > P
5 & , o -
bl § F) (2] g LT} M7 -§ oy Sodks l} L3 ;f; * 5 L]
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(i) 0@® mifio G eBdl demced 0d. 89T £ Bdesloss w.do ydmoed gog w2 guaes wdvio.
Bbs apdbmd G Gl abCaed Basieng. sflwme & AdBuidomy Bms sOCEIHHEG GLITmGH SIS
2_LUGSHIG.

This piece is in G major. Insert the correct key signature appropriately in the music score.
(i) ¢@8 088 B8derfica Boein 0 B0 gEmdedd gres mdsle.
Boen ayid AsGumbsm)sh Hnorelbhs owns oo ev@anflsd » 1 @dam.
Decide on the time signature and insert it in the score,
(i) (8) ogf omled & mbins 858 8 dond e®Byedd ed ¢?
apgsd iflelled @yinin Gelien Gensr aihs & Big GoTgu@eol eydwma?
To which key does the music modulate in the first Section? ........ooviiii i,

(b) @l qom wgwst wczt,
2 flur uAlf Eevdahiseens GRS,

State the bar nUMbDETS CORCEIMEA. . ... i ittt e e e, p
| 9 28l 86 oo, / ub. 9 el Lmdae [/ See page 9
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(iv) @B qom | =2 8 gnd eiBs B teosd o} esdeld dw ‘A’ ecs cRe »d erfdsine »® I,
1y @edsn | -8 euenr Guuaiic & Bleb o eiien Gl _airerh geenn ‘A’ eeid GG, Gabt arevTist G nsmiydh
(b,

Find the cadence in the Tonic key between bars 1-8 and mark it as ‘A’ and name the cadence.

................................................................................................................................

(V) c®® mafied eni® & endewst Sudod wosim.
Brhg SyEasfdr Gund Gomad a@hhoonn afaifidds.
Briefly describe the form of this piece?

.................................................................................................................................
.................................................................................................................................

.................................................................................................................................

(vl) ¢ mifed e0Bew o R HOTID.
Ghs aubsdde Cublur Geen afendhs.
Explain the tempo of the piece

.................................................................................................................................

(vii) @@ i8¢ e0H® IS gowed eust @B, 2 g Bionms 29 wBpwes’ poiegm gulnl Hog Baumamid Go
@oBmeew enidh €806 gudmded Buln ddrmssiB aped nosts.
@Bhs apben GQmoraips sTdABG 2 fugl Sy Geim sootsst, HDms ASHGHT apa
sisiLsueSHas GUIBGSIT SmeoLnLILD By SsGHOILD CnflaGauin eGHTRs) GiLmbSGIOTm
BLBHD © L LUEGHEI.
This composition belongs to the Romantic period. From the three titles and the composers given below
choose the most likely answers and insert them in the appropriate place in the score.

» Title: Waltz of the Flowers, Serenade, Soldiers” March
e Composer: Franze Schubert, Robert Schumann, Pyotr Tchaikovsky

(viil) @l go 1 —4 @B 82 deitis O B vendd el g1 910 eeus S ¢?
Ly Beohatn 1 -4 Gasien Boas Gt Sihohd & 2 L1 aiHSHmel g enaubeit GO Gelieng?
How many times does the music of bars 1 — 4 appear in the same key throughout the piece?

.................................................................................................................................

(ix) &0 qow 17 080 Do ecdm emdes w0 Bugma Bo gy 0. & agm qpe ddmed 580 silsy owcsim.
L @evehantd 17 Ged symbtd@d Gravn mb ugd WeaiBh Saadbsi CawdiBit. opphars Hengulled

o flur @Lssled i eiufor G
The second part of this piece, commencing at bar 17, should be repeated. Place the repeat signs at the
correct place in the music.

(X) @5 qom 17 s 18 8 66828 e mbie®rfs oiBde oo &l goo 29 wo 30 wesiios md 08 o
s8I0 o cOn @ wgwel wdvis.
iy @eossn 17, 18 apdwemenn wurr Seodst 29, 30 syfueupmbdonl Gur ahaob, amrjGomaiis
syt | aieiBon @il B owmlleeesn @F @5 SEneD gk GumulL HEHIEUILLD

GOLIGBS.
Compare the rhythm and harmonic structures of bars 17 and 18 with bars 29 and 30 and write a similarity
and a difference.

.................................................................................................................................

................................................................................................................................

L -

H1O 885 500 Deatm. / ub. 10 gl unds [ See page 10
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2.

{1

(i)

(iii)

()

A el /ugdl A/ PART A

Bon® ues eCamd 88ud; vewsin.
slenenBuispitt @yeni® sflardsanby el welldbes.
Answer any two questions.

Eb e@dlc B 8der’odn ubnd goedlnes vy gredine guIded edidd 8é®wnd gmnd FHecdt 8
Banim. 088 Bdewtdde graes mzim.

EI’ Giogmy eoBaemen & AaGaiFsm o Seubimasmr HGyTomn angelsd Camsden shassbCaiu F dened
B0 aippais. b AaBarrsanfs Caidhms.

Write the E° major scale with key signature, in descending and ascending form, using F clef and
the rhythm of a waltz. Add the time signature.

G eoritetsis demced €00 vm 0885 & 48 080 Bdewtcud ogesm 8d8wmd amd ol 4m
w5 Stdnenw mUsis.

G GusiGyrelds er0Bemeilsd arbsugmimementt LILSLGHE SIUL Gaten sy AbCedamat QLmaphHi e
aibsHEhbiboHemnnnl 4 UNfsEhhera Gioalg FElsnp sapSis.

Write a 4 bar melody using notes from the G pentatonic scale, in a rhythm to fit the given time signature.

& 9B o9cio @edd Om vl o Hecd dent Bar o A e®Esed @R D g@lsd 88108
8ot ewgpis.

S Beiten Gosvigenut Guia Slensit Blab wb @dGrsh Mpna sepsl, Oins A Cmfied @eSamth allgddlsd
Fflwimsn syl sipsd Cayshea.

Transpose the given melody an octave lower in the Bass clef and add correct accidenfals to make
this melody sound in A major.

g B DU e e@eneinegs 8 B Bdews Buwim.
YL @efien  Glenheendd CoraGyrsr geimpll LUSIEHS FheConaens g,
Write a rhythm pattern on a monotone to the given words.

I love a lonely winding road

That takes me where | cannot see,

Until each softly rounded hill,

Reveals its landscaped mystery.

William Wordsworth

J

[T & 60D Baaks. / us. 1 goir unids / See page 11
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4.

(i) zoo § B c@clin @01 g8 50 gunst av gsI0dd ape ef) <o0 yobEln. age 088 BdewDos

)

wm o8 8 emesln. 608 B dewf o8 ov 80 w.dp e gort 8oa 8 movhnm.

dleienpid Giosoy Bed St Gefton eeny Gimmoisomisel, Betosbsensde gnu oG Geen Gprad
Bevarl uyeiuGaHEs. o fu egn AeGaissl, unf afamams Coidws. Boe & B Guumguth
Bead Siewt b o fHan@n v efst Guusmud GHItIGs.

Compiete the melody given below, filling in the missing notes according to the note values and intervals
indicated. Insert the relevant time signature and bar lines. Name the key and the name of the song.

(a) Perfect 4" above (b) Major 3™ above (c) Major 6" below
{d) Minor 3 above (e) Minor 7 below (£ Major 3" above
§ B i .
& L & @
lfig 7 M:;: e _’f — o i Tt : i
& o = ;ﬁ ?é_| el 1 ] = =
TN W, Lo Led L L
@ () (c} @ (& (H)
Key: Name of song:

(3) o® Qeided edmd exdbuld yod . $ed D gun Bo 8 mdiy.
Herowmd  Guuginfled cpeiny GCeompn't Qo oo o siienen. seupflar 8sm’  @MluiBsmenb
Ga1_satenilen  GLuUsIUD SIS,
There are three different cadences in the following extract. Write the chord indications and name
the cadence.

(b} goenzn &Y dm> wByules B0 [0 JO6 qowsd wdn o8 pey eBhwowd Bom »H8
mosien.
B Laly Senam't g ILGHGISDEnS Afluiner sroaflt CUpIDTmEGment LGB CLITmdsinmen
CaLcitad Bemanr a10pd), iment Guienys GG
Complete the last bar with a suitable cadence, using correct note values and name it.

g e e e

Y
e

(1) &0 & @B woln Denwd 98 senlul srgrum gBcsind miws Burm. ogenm ebBew, ecio

@9 DBl «ulies e@cdud ewisiv.

SIO Goiten Gosuigen 988 LTMIABGY GUTsSSWTET  SyEfin tjE(SUaru Cafdgil)l LratILBSeis.
Usmi@a A Gioegset Qunapssorear QuoBur, 1985dm, eLamboen Gafhms.

Complete the melody by adding an answering phrase in the same style. Add suitable marks of tempo,
phrasing and dynamics to the complete melody.

TT8

| 12 8v5 800 ey, / udh. 12 g unibe / See page 12
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2

B ewide /ugsl B/PART B
Ben® g ecoDO BEnc; soosis.
stemen@uisnnd Greti® elanrdbendd offenl et s,
Answer any Iwo questions.

(1) egac decd 8 By o@ciin miliednmntd 858 v 6dd dedd8 o0l grmEne®sd Bt g Quld,
D00 B, 858 oni ewdd o 8000 gog BT Buvim.
CGpfeir alensln @sd siap@i L Glicsugsnul amaTicenemey OluiaughE Gued adgrel Glsd o (Gymper
Bavdaddapeian 1 juyierd, GLr m 1flefibeb, Weafhibed sebeg GEmNGE e e1en FhHSHHIbE 6Bl e1UpHIS.
Write the triads shown by the Roman numerals, accordingly as dotted minims, minims or crotchets in
the Bass stave to harmonize the meledy writien in the Treble clef,

= 7 ; O Sas——— ; z >
4 1 . 4 ] ii 1 P I 1 1 &
-(-_:?umﬂ-—«ﬁ& 1 ; ¥ H;_M "'—79! & & ZiE /5-5
s i ”i'_'l A
B (% ) F
%
I Vb ii Vb 4 I

& comoed &ifm Sned € g 08¢ ndn 56 yelmd eudlo wdn 0d gdmden posis.
Gomimauienr Grflur EasHs0 Hyi Getsn CuwensndBmul smisgs abeuy auengenty, HpshBmin Fhibs,
ST SUERTLITS 10MHILIsOG G,

Convert the given phrase in western notation of the Sri Lankan Anthem to oriental notation.

(i)

PN 1 i } | —— : 1 e [ ez | | EEETTEEi T )
bets—a———F e i
3] H et & bl D& i i
7
IQ b Ijg ol L4 | 1 }.‘f I ;A; i ! I i 3
" H
a8y~ 7 i Ty pﬁ 174 4 &= & i ; i 1 T &
\é_)v lr 14 i ¢ Jl O H ;15{1 &

| 13 808 800 Qo / b, 13 gy umjsds F See page 13
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6. () € B 00 O 008 i@ @8 wulin Aeide ewld dendl HOWD mdn Bewslis.

Sy @eiten sr0Eyel Semeoit LuGIBHSE Bibe Gensd siswn. shmer Gagm’ ab@mny apsppuisd WeaED

SHID&HID.

Re-write this passage in short score using the given stave.

~ [} & | i . LI ! 4 O

b S a3 s
= s ¥ 1o o e

v E | i -
S o ! e
] 1
Rl rrs eIt rrrfor i
I I I i H i T : i I E “_"'l_m"' | i
S , m
] i 1]
e s e p
i 1 i l i {
— m i3 h
e = ' — s = ]
o e e
(i) (a) CRgs derdced €00, & 18 delded ogdc Becd ewigp Sovim.
C vemed ebBaedlal ebaugmmensnd SIUILC Beiten srbCrsit Bt | Ginlelt al@smal tuSLIBSS STIDEHIE.
Write the notes of the Blues scale on C in the given stave in the Treble clef.

(b) &t woBmed Do cregasd 8wy’ wosim.
eqmerd @engullstt (pd&iwl Lsmblursinps i Bs.
State an important feature of Jazz music.

(c) @emedgbi §DB5E uirED il ©.dm ©r1add) scos 8 md, 8Dy emdews? Budnd wdzim.
ROHaLIT @Els ) ala. GHELLUGHISS o _fiul Baadonmealssd Gyemedr CLTamend GRta @,
Semand &nasns alafldms.

Name two instruments that belong to the woodwind family in an orchestra and briefly describe each.
B L0 0 O Y S S SIS
B2 v S8 8 B A SRS R 3 58 5 S0 3 S S R

J
| 14 085 808 Deao. / ue. 14 g uapdes [ See page 14
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7. (i) ovo § g8 Jos8s dmed coudes obod Sdnd mivlo.
#SCip syl Gshaneumniied sj@amid @aufienan © guysomiaen o silsufloes.
Explain one of the following with examples.

Vannam, Raga, Prashasthi

........................................................................................................................
........................................................................................................................
........................................................................................................................
........................................................................................................................

........................................................................................................................

{il) oo @udo DB cbmn ne Bbowus »HE Bouls.
Heiin@pd spbansalar Baes sibonhiseaiian CLTHmET 6IIpSISD.
Write the name of the composer of the following compositions.

Composition Composer
1 | Young Person’s Guide to the orchestra
2 | Rite of spring
3 |The Entertainer
4 | Rhapsody in blue

(iii) (a}) ©®® DBy’ B gowmo gu o8 ¢?
Eubs sndbambol abomd STe0dSHEE 2 fluisaamgn?
Into which period do these compositions belong?

.......................................................................................................................

(b) e gvwd ewg §f Ciloes ecw waws’ BUBL.
Baancoidiesiu Brewi® Gy ussi maand G IGs.
State two common features of this period.

........................................................................................................................
........................................................................................................................

........................................................................................................................

(iv) e sldn gueoosl oem @ffudded LOE® ¢HBows. (BisE ow DEFNed, wed glc
Bz mefilond®, edemitl mafinag® offos! Hm weclinen)
UTLETeme) Sens  oubmissssist urGUDmInISasTM Wpdalubhgieubmad GHRUIGS. (UILsTme
Benad@up, LT arama auThAd@iy, brsBarL) Gup UREgUBDID Se6) [Hioblpe)ssir)
State the value of participating in school musical performances. (such as school choir, school band,
and recorder group concerts)

........................................................................................................................

........................................................................................................................




41 - Western Music

Marking Scheme 2019
erl l | mark for each Question 1x40 | 40 marks

|

er11 | Question No 1
i. 1mark

ii. 1mark

iii a.% mark b.% mark
iv. 1 mark

v. 2 marks

vi.a. % mark b.% mark
Vii 1 mark

viii 1 mark

ix Imarks

X2

Total 12 marks
Part A

Question No 2
i) —Correct clefand Time signature
- Correct notes / rhythm pattern
- Correct key signature
ii) —Correct key signature
- suitable melody using correct notes/
rhythm
lii) — Correct Transposition
- Correct accidentals

LR R R S R

. 4 marks

4 marks

NIN| W RN =

. 4 marks

Total 12 marks

Question No 3
i) Suitable time signature [ &
Suitable rhythmic pattern .
Writing words correctly below rhythm | 2 6 marks
(Delete 1/2 mark for each mistake)
ii)Marking correct interval % mark each x 6 3
Correct Time signature & bar lines 2 mark
Key and name of Song 1 mark 6 marks
Total 12 marks
Question No.4

Ia) correct Chord indications & cadencesof
LI, (13 ¥
Ib)Correct Perfect Cadence 2x2 4
(ii) - Suitable rhythmic pattern to match
the 1* phrase

- Note leading to Tonic at the end

should be 2™ or 7"

- Tempo/ phrasing / dynamics 1

Total 12 marks
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((NEEEE Yo daneohe vkl ado o/ 68at oa/ ikl Tevenkgennskosinl www.olevelapi.com B



Department of Examinations

Question No 5

(i) Use of correct notes of chord 1 mark each x 6 6

(ii) Conversion of Western Notation to

Oriental notation 8

Total 6 | 12 marks |
Question No 6

Treble and bass 1x 2 =2

(i) -Correct notes with accidentals /key Alto and Tenor 2x 2= 4 6

signature and clefs

ii)a. Notes of the Blues scale 2 marks

b. feature of Jazz music 1 mark

c. Two woodwind instruments and

description 3 marks ;
Total 12 marks
Question No 7

(ia) Explain one given type of music 2 marks 2

{ib) Name the composer 1 markseachx 4 4

(ilia) Name of period 1 mark i |

(iiib) Common features 2mark each 2

(iv) Own writting 3 marks 3 [

Total | 12 marks

41 - Western Music (Marking Scheme) - | G.C.E.{O/L) Examination 2019 | Amendments to be included
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Common Techniques of Marking Answer Scripts.

It is compulsory to adhere to the following standard method in marking answer scripts and
entering marks into the mark sheets.

1. Use a red color ball point pen for marking. (Only Chief/Additional Chief Examiner may use a
mauve color pen.)

2. Note down Examiner's Code Number and initials on the front page of each answer script.

3. Write off any numerals written wrong with a clear single line and authenticate the alterations
with Examiner's initials.

4. Write down marks of each subsection irA and write the final marks of each question as a
rational nu rina with the question number. Use the column assigned for Examiners to
write down marks.

Example: Question No. 03
(i)

(ii) s iR RREE S RRRNELY +o SRETRREEERL o v v v e s vassons

T R T

(i) L+ ) = A 10

MCQ answer scripts: (Template)

1. Mark the correct options on the template according to the Marking Scheme. Cut off the marked
windows with a blade. Cut off the cages for Index Number and the number of correct options so
as to be able to keep the template correctly on the answer script. Cut off a blank space to the
right of each options column to mark the answers. Submit the prepared template to the Chief
Examiner for approval.

2. Then, check the answer scripts carefully. If there are more than one or no answers marked to a
certain question write off the options with a line. Sometimes candidates may have erased an
option marked previously and selected another option. In such occasions, if the erasure is not
clear write off those options too.

3. Place the template on the answer script correctly. Mark the right answers with a V' and the
wrong answers with a 'X' against the options column. Write down the number of correct answers
inside the cage given under each column. Then, add those numbers and write the number of
correct answers in the relevant cage.

41 - Western Music (Marking Scheme) - | G.C.E.{O/L) Examination 2019 | Amendments to be included _
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Structured essay type and assay type answer scripts:

1. Cross off any pages left blank by candidates. Underline wrong or unsuitable answers. Show
areas where marks can be offered with check marks.

2. Use the right margin of the overland paper to write down the marks.

3. Write down the marks given for each question against the question number in the relevant cage
on the front page in two digits. Selection of questions should be in accordance with the
instructions given in the question paper. Mark all answers and transfer the marks to the front
page, and write off answers with lower marks if extra questions have been answered against
instructions.

4. Add the total carefully and write in the relevant cage on the front page. Turn pages of answer
script and add all the marks given for all answers again. Check whether that total tallies with the
total marks written on the front page.

Preparation Of Mark Sheets.

Except for the subjects with a single question paper, final marks of two papers will not be
calculated within the evaluation board. Therefore add separate mark sheets for each of the
question paper. Enter paper | marks in ""Total Marks' column of the mark sheet and write them
in words as well. Enter paper Il Marks in the " Total Marks" Column and include the relevant
details. For the subject 43 Art, Paper |, Il and lll Marks should be entered numerically in the
separate mark sheets and should also be written in words.

For subjects 21 Sinhala language and literature and 22 Tamil Language and literature,
paper | marks once entered numerically should be written in words. Use separate marks sheets
for the papers Il and Ill and enter the total marks in the "Total marks column'. Write the
relevant detailed marks against each of the total mark.

Final marks for paper |, paper Il or paper Il should always be rounded up to the nearest
whole number and they should never be kept as decimal or half values.

*=EFE
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: mmmémmmnm 2D B
elBem @G smﬁm oy (@5 eug) Bmamca, 2019 e¢e@a5

a0l GUIGIS FIMHI0 UGHY (srmmem SNU ufiens, 2019 RGFbUY
General Certificate of Education (Ord. Level) Examination, December 2019

B (gEog®) III |
i (Seogepu I

[STE[1,10]

el ufCaas foeay fnami

Y@
§

. Music (Western ) ’

(Cic 296 ) 2055 Bub® mce - 85=n 10 8 |
apshipl el HHWwiTevid Guevgds andfiy Gppb - 10 Bl mussl
LThm hours Additional Reading Time - 10 minutes

aend 5008 mes oo 8w S®E) oE el NSB0Y BEHI BPeSE SEDTBE 8¢ D
HeDeE 6 NS0T emO®S®D.
sismLsHrpes andipg, slenssmas Gsfa@rlashieh ol aEaLeLIs aEDfoL APEGD
adamssaa ghsaLEEs GETdashed Bwads ardly CEISMEL LUSTUBSSIS.
Use additional reading time to go through the question paper, select the questions and decide
on the questions that you give priority in answering.

woBme (@ddo) / s (BwssogBsul) / Music (Western) 1

f_calcﬁ;s cn8/wpsdlun/ Note :

(i) Sor ® ofn2c0 BEmpT sowusio.
SI6DEOT SN SBEhEGSID oL 5HH.
Answer all questions.

(ii) 1-40 ez cFmHaE (1).02).(3). (4) BERGOES HO15¢ ewd Sihsl oges® ewi EEnC enich osis.
1 GaTLsED 40 aumTwsisn gaulaurm allmaioond (1),(2).(3),(4) g safeRiLiucL ol seaise Ffwrer

SisvsoE 10s0 QUIGBSSWTEr sl ad GaflaGFuis.
From each of the questions 1 to 40, pick one of the alternatives (1), (2). (3}, (4) which you consider

is correct or most appropriate.
(iii) 28T scec> 5800 ened £ 2 gdoa s € 0B o gnec 83 onid) o BEnel #.o0d szeg®

2os e (X) cpes sxgmm.
2 10&EE QUIPEISLUUL Geten el BaTslsd gabanrm olamayssd 2 flu el Bisefsd 2 g
denLulsh Revsssms 9Hd allL SHeneBsn Usisngenit (X) B6Bs.
Mark a cross (X) on the number corresponding to vour choice in the answer sheet provided.
(iv) o2 38xn0 oged Bgse B 48 comm coeet ¢ uicBcecs Scd, Siv ¢ BEcisi».
el Ssrallsl pUSSEHM FJUUL Belisn HDU DfaDibSH0smenD Susnis suidha LBl
1isliummE.
Further instructions are given on the back of the answer sheet. Follow them carefully. i
1. o & 18 anb 9 econ gey D6 Edesitcn Osies edtBx @ 7
Ussieupeusiieumpyen SJuLl Gsiten wij @il GUIBSSHDT i HECanFs] a1m?
Which of the following is the correct time signature for the given bar?

(Hf @ 3 33 @ 5
2. com ¢Echm wodn @b S T80 BdesiDcad qnd wubea 8D ¢das eddd § ¢ €208s o ¢?
Useumd Sens unt Beven e AECaFsmdE ghu YIMTsGusBas GCoeneuwns Gmerdl

ST Haaneupouet 61517
Which of the following rests would suit to complete the given bar according to the time signature?

St o

.’
by - by 4 e
m 79 @ 77 @ 777 @ 77 |
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~

3. 2 g8 asted Sdads e 30 oo e ¢?
syt Beitsn B HHed gens @ebeorgl o een GCpIFL Ubae aihHenen?
In the given illustration how many crotchet beats are silent?

z ——]

Jg;éi! : 1

( 5 (2) 5% 3 6 4) 6%

-t

4. ZgB 8983 8¢ C 200 odizt 5 = onEs’ B 0w s ¢?
FIOUL Beiremsummisit Wiged C BN@ 5 Gyneiiselr SP15 o shen sosugtb a1d?
Which of the following notes is five tones below Middle C?

o Feee— o P » PF—=—1 P

5. 2 g8 390 @l 7 5 gue #0000 s siost S00853 Rt ¢?
Usiieupeusneupmisit SIUUL Beiten eibeurHaihg Gy 7 Gusoten ebeuid s131?
Which note of the following would form a Major 7% above the given note?

to |
V=1 W =—==_ 0 %
. .

6. oot Heen 8 HSefded cag oeasiS acdl cSmed &S0ds Dujes cwm Stillsl 8 ¢?

UeTaumausTaunmien SIs0CIT Hens Beit avCal GBS FCp (P eomb Geoggl evevelfadl ebauycTaug 61gi?
Which of the following is the Ictter name of the note on the first Leger line below the stave of

the Alto clef?
(A §2) C (3) D 4 B

7. 2 8 Secd enlsd con £S5 Eb B8 et ewln goesd @ ¢7
SINUL Baiten  HGensudsenat Ualeumd avawc E syausnel uwauGss Caediguzs agi?
Which of the following clefs should be used to make the given notc Eb?
P

—
wFEF on— E OFL =

8. @Wsledd s ne it eI oo ee®ea 67
95Bya gamfignst sHsanen BBTaTEe o aienen’
How many tones are there within any octave?
(1 3 2 4 3 5 4) 6

9. S B BderiDde ©8n dewd gocs Dped eEDBs e ¢?
Uaaumauaraubpiet b5 £ FHaGadsansds GonaiL sBssvseian Gamy sm?
Which of the following pairs of scales would have the same Key signature?

(1) Bb major/E> minor (2) F minor/Ab major
(3) C# minor/D major (4) E major/C minor
41 - Western Music (Marking Scheme) - | G.C.E.{O/L) Examination 2019 | Amendments to be included _
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e e =
! A
10. € @8 S8z 88m8 Codun =cfdiB emidlene tsles s ¢?

Usleupeussteuipyen enwary LywBiiss (paeond @eiGsujssn sig?

Which of the following is the 1% inversion of a minor triad?

) Fﬁ 2 BEEE—F o

11. % ¢ €8 ScIOE Hoad @i Dies’ o= ¢
Useumpeusneubpyett suteusd Bgnadens oddd a1g?
Which of the following is similar to Bilawal Raga?

) #S_Jm_be .,_'m__u;fagz} F———m—a——

@ F=—]

-

o © I\ ;
ty e i @ TV ——————

= 1T . ©» ¥ =
12. € a5 & gqreds’ cum omids o wdasil dedco 9 ¢
Wshieumsuanauimiel SyUulBeten Ganl o L6l GupuLijysn i stBsst sig?
Which of the following scales is associated with the given chord?

(=S

(1) A major (2) D minor (3) F major (4) A minor

13. oo J81 go8=3 € oS Sobo Bdmd noym castes’ @St ¢?
Ulsitaumsuaaummien SHFUULBeten Lywm Sener aleufliug erz?
Which of the following would describe the given triad?

LS ]

(1) T (2) Ve (3) Vb ) IVe

14. € a8 S ¢obs 85 esdce cus BB, Deme DO a8 500as! Toed o eem el &7
Msileupsusrisubmeil  aibsl  Guiaismanr sSugssntGurs., @msssiniBin edeamd Ozm iba gads5é

LaTsNgiHoHEGD?
Which of the following pedals, when depressed would sustain the notes played?
(1) Unacord pedal (2) damper pedal (3) soft pedal (4) sostenuto pedal

15. E g8 onldzioe Bdnd moy cazies 83 peSsl ¢?
Usiiaumsusnaummien FHTUUL Bsiten CaLaiery Beven alsufiliuzg a1g1?
Which of the following describes the given cadence?

?;} e b

) e (o]

T [ %] S
(1) Imperfect cadence in C minor (2) Plagal cadence in Bb major
(3) Perfect cadence in Eb major (4) Amen cadence in G minor

16. '‘8g&ces’ maBs B gifes R8m» eni® Soxd ¢?
‘afluogend’ aem usED apsd eupalsd (form @60) erugsUUGemeng?
In which given form is ‘Humoresque' written?

(1) Ternary orm (2) Varnation Form
(3) Rondo Form (4) Binary Form
\ s J
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NS Bdl MV BAT WAL A Bs" Ay An
-

17. 2 B 8C-m04s vgSs e¢ies com RS 88z3 ¢?
1NerenmauereuBmst HIUUL Beiten @iemGlosin Benen alaufilug a7

Which of the following describes the given omament? [
(1) Mordent (2) Acciaccatura
(3) Inverted turn (4) Arpeggio

18. 2 g8 985 n@» exdrise cdSz 80 el emids BE8 ndlerd ¢?
eaumauateuppisn Gimefs GaLssh GLTba@n Carl Smeall LLSUGSH o (bautel Coal e aig?
Which of the following cadence is made up of the chords tonic to dominant?
(1) Interrupted cadence (2) Perfect cadence
(3) Plagal cadence (4) lmperfect cadence

19. £H556m0 o8 Sos [ €88 Sowec e 93 2
avaurHaiSe Gweons euh Lsiis rsrsimg,srrr.rsh G CubHsuzp ereien?
What is indicated by a dot above a note o

(1) Play thc note with an accent (2) Playv the note smoothly
(3) Play the note detached (4) Play the note adding half its value to its length

20. 2 8 € go0s) & Bho gSes RPm Bige VIR0 ¢?
ey pausTaunpiel soll . Qmards CoTanil. Bosss@mel g7
Which of the following is a single reed instrument?
(1) Trumpet (2) Clarinet (3) Oboe (4) Bassoon

21. x> 20D SO0 H&n BSensSS oHr S8 VO b Digr MEMBE Exfest O ¢?
BosaalLBDd atasms il g@bsl Cuibus Fyrs gal awliud Bmessnal asl?
Which instrument sounds a perfect 5th lower than the played note?

(1) Piccolo (2) Cor Anglais (3) Trumpet in Bb (4) Clarinet in A

22. zom S5 enlsl ehsd oodn srados S5es’ 8 ¢?
ssumauateuhmeT Leyms Bamasshal sigl?
Which of the following is the drone instrument?

(1) Oboe {2) Mandoline (3) Tampura (4) Sitar

23. T 3B wodo a8 ]?ob COO dens’ itz U 80 aeasies’ @ BoGecs’ IEieds §1m0ad ¢?
FIOUC Geten  Bensl Guwity B CobuB S SaFssniuBinGing  sieumsusiauBmiei - 6igsd
FGOrmiILiu Gesnaurn Galssmguans BEG? b
Which of these would be heard when the given musical extract is played on a Trumpet in B'?

=== 4
i ¥ 1 : 1
(1) = = P l i} )  — i}
3) =3 o T —i 4)
24. T o8 d0dc D oD §1da gevsies’ @8 ¢? ;
IO Bshen ebauy s Boadboi alphd BGeauppisd afsd efaufldsiin Geeng?

Which illustrates the way the given note is played?

(N m 2) ﬁ 3) m (4) ,aﬁ |
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WS B| b VFRF] WAl B A Ay AR
’

25. cun gquEfeds nEm yIas HBedt o ¢?
Uledteupsuensui st sflumen smmpm a7
Which of the following is the correct statement?
(1) The Trombone plays the soprano part in the Brass section
(2) The Piccolo sounds an 8% higher than written.
(3) The Conductor tunes the orchestra.
(4) The Saxophone is an important instrument of the orchestra,

26. T o8 Dmsed ogec Shidg §dea aiies 853 nodn» Hiehum ¢?
SIUULBelen suTsSwsHSIeEaU LGuntdhdwnea afwrs ahoHb SBeupmet aghed 2 _efeng?
Which of the following would be the correct rhythm to match the given sentence?
“Yankee doodle came to town, riding on a pony.”

w 34dd1ddd 0 ARG L
@ 8d JTII XL dT ol

o 3143 53 ZaliiEEL [

w 1) TRV 5. TSGR .

27. anSiedd & 950 woses’ O e &7
Tedeugheustteuimiel sighlel LishBam UWsiLBHSOIUGEW?
Which of the following would use the Banjo?
(1) Folk group (2) Pop group (3) Jazz band (4) Brass band

28. '&5c8EC ewiznded’ 6B ne sBnzamed DO maBas Exes) com 28S ¢?
UsaumeusiisuBbmien apaiiensoliB CotammtT Boer Suibw Sas SEGEfs wBnG1n Denswnsshd

s1a1?

Which of the following is another composition by the composer of ‘Moonlight Sonata™?
(1) Nut cracker Suite (2) Mikrokosmos
(3) Petroushka (4) Fidelio

29. ‘Goge 93 ¢ ol 5840 Bos ones Eg8ng O» bries! 8= oo ¢?
Ueiaumeusmsupgenr ‘FAwdn et 5 Guisr asnm (Tgusbun’t m s op Mg By flssd aig?
Which of the following musicals has the popular song ‘Singin' in the Rain'?
(1) Mary Poppins (2) Wizard of Oz (3) Lion King (4) Sound of Music

30. ‘8o e’ om euid 80 Boi(D qlda ecsies) L, e &7
FLLm aGLn’ aisiussh sRfEEHHMSH HHIL LQFrsw a1z
Which term gives the opposite meaning of ‘Ritardando’?
(1) Crescendo (2) Larghetto (3) Vivace (4) Accelerando

31. 2 g8 S8y 'ezndd® wcBoma’ v 0@f5lmibus emcmddes oo ¢?
Usaumeusnsubmett UGITE&gme 1B s’ o L&l GaMLiTens Bos oubsb aml?
Which of the following compositions is not associated with ‘Programme music™

(1) Pastoral Symphony (2) William Tell Overture
(3) Scenes from childhood (4) 1812 Overture

32, ‘deccell & gt Bg woBume coun ceuns guens’ DETS ¢
Ueieu pBaunfled “slenws) g gures’ @edr Bens ysGeny wimy?
Which of the following is the composer of “Clair de Lune'?
(1) Lisa (2) Debussy (3) Gershwin (4) Schumann
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33. 8ct 8o Sxles’ 8m @S ¢?
Uletauiheuataunpiell MHILSD UTLey 61g)?
Which is a song from a Nadagam?
(1) Suwanda Padma (2) Danno Budunge
(3) Shantha Johnge Weediye Kade (4) Wasana dineki

3. xnco Drinels Ednd iy cRsles’ B8 adiiduned qEg» qimice ¢
Uaaumauaisubst abs BmsHHE BLEGD alsd ZIHRET aaeandde alafssiubGEng?
Which animal’s gait is described in the Thuranga Vannam?

(1) Horse (2) Rabbit (3) Elephant (4) Snake

35. Pentld mifics txles’ 3 vucs &7
Uehisugpeusaisuiell epGaerblyet sy HHD 61517
Which is an orchestral composition?
(1) Liebestraum (2) Gollywog’s cake walk
(3) Lohengrin (4) Bolero

36. 2 oif w-Onwas andsl gt 8850 88O AL BICHODeS LT &7
Ueeugsib Bans o 5@&bIsaNs0 mrean Genasuj & Gsmnisosorseuy wir?
Which of the following composers is not associated with Jazz music?

(1) Louis Armstrong (2)  Prokofiev
(3) Scott Joplin (4) Duke Ellington

37. vom qEedn 28 BIOE ymives 8 &2
U aeumeussuBmien LTenlpluTer smmpmi a1dl?7
Which of the following is a false statement?
(1) MIDI is a standard way of connecting onc keyboard with another.
(2) Synthesizers can record, edit replay music.
(3) DIJs use a mixing desk to combine different tracks.
(4) Sampler is a piece of equipment that can record, process and playback bits of sound

38. oPOlmun @imseas’ ns Ses Hedg8 qFfetsies! sun 1S 8> Bosiews’ ¢?
T eTeuHeueTsuUBmIeT WeTELTeS & Heapfed CUTHIUTSL UWSTUGSIUUGIE [BILLLS6T 6T sTewmTent SanBHamls
SHUTBauz a7
Which of the following states the number of strings commonly used in a mandolin?
(1) Four double metal strings (2) Five single strings
(3) Six single strings (4) Fight double metal strings

39, Bomieni® sves 980 o med Sbown e ¢?
Ueiteumevensupmisit TwinGein widHE vweSLBSSOUBE Gy sybsbd 6157
Which composition uses only the Piano?
(1) Blues (2) Swing (3) Ragtime (4) Be Bop

40. 2 4B S508x1 §8 B8 €0 ronl eanddes 8% OIS ¢?
U esumeuensubmien Ljb@an Bhe 2 fHzesnss aHi?
Which of the following does not belong to a Drum kit?

(1) Floor Tom (2) Ride Cymbal (3) Tom tom (4) Conga drum
= M M8 BOAD Mueede. | . .8 T e’ s sl F Cnis snmnin ':
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AL &VPAFI L/ B As=Ry 2L

1. s 418 w.8n aadc glsans ©d g g8 udodeEd 88nd; cowsio.
ABip i’ Galten @ewall GUWICDL SUBTRTSHS Gl sl Beitsn slanmdsenig el  o1ipHis.
Study the musical extract given below and answer the questions.

Allegro
o = N N - - Y —
G- —2 %{_f;z %_f:;_zg_—_i‘—'_;_.—:z— ﬁE 5 '?":;::’__
./

—r - e I =P 5
¥—7— i ¥ _l : T E——

(i) c®® maBo G o8l domiped ¢b. 86168 B B8deiode 0dn udtnded geig =52 gmes nosS».
Shs asnn GCuxgl ety Sesiieng). sfune & AiGamisaamy Gama sBETHSGL GLITHHSIONS
2_ULiSHHBHID.

This piece is in G major. Insert the correct key signature appropriately in the music score.

[ (ii) o8 288 Bderivse Bosce nd g0 gdmded® gmes nosim.

Bpar eonb HaBmiaens Hotelss seng soeuy e0Bsiflsd o 11 EHHEIS.
Decide on the time signature and inscrt it in the score.
(iii) (a) e emded § ndne 8200 S 90 c®dgedE® ed g7
apsHed 1Wflafed gyl Geiten Gema aibs & @De GiomguiBsol. syBlemes?

(b) @05 goz» mguwsd oD,
o _fin uny @eosanisemens GHIFULIGE.

L Statc the bar numbers concerned. ........ ?48, ..............................................................
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UL/ LULY/ S/ =1, 11 =i e an e aaasaeseaseasasesasaag e
¥

(iv) ol o | 80 8 g0 0B 8 Ooxd 18 ofsied O ‘A’ ece CRG ©J exfdxiens »® o,
uTl @evdbamd | -8 enayy Gynaild o Bed »_sen Bai_aied gaEenm ‘A’ aard G B, Casitendenr CuwienTdh
B(Hb.

Find the cadence in the Tonic key between bars 1-8 and mark it as *A’ and name the cadence.

Perfect Cadence CV -'.[.) bar & .

(V) @2 miSed end® € endeus! Bdnd oosim.
@bs sybasdls Cumnb Bevad sipbhaitis alenflhbes.
Briefly describe the form of this picec?
Binar thﬂrM'A\SQk“PNﬂaS‘kU‘QPGVE‘PﬂrM JAB Fform [Open.
................................. forw. Section A - Tonic key to Dominaut key

(vi) e9® miSed edlen O LER nosin.
Bba apbssHHen GNHGUT Hoear allsndds.
Explain the tempo of the piece

(vil) e®® miBc ebhe =30 guod eunl ¢5. € g8 S o =loes’ prics?X endst e @imard e
s:8ms endt dud gedmaded Baln £Scimas’s groes »osis.
8h3 spésb GrorSigs s1058M@& o g STOULGelen SIS, B SdhGbh] fpaul
a1t e TeS (hibd GLITahHSI0Te! Haneolent 111D eng subehaIuid biaflaybaus eBsmflsd Gumcsdhaiorns
8L 80 2 LUysSHES.
This composition belongs to the Romantic period. From the three titles and the composers given below
choase the most likely answers and insert them in the appropriate place in the score.

* Title: Waltz of the Flowers, Serenade, Soldiers™ March

+ Composer: Franze Schubert, Robert Schumann, Pyotr I'chaikovsky

(viii) 35 gom | —4 18 =B Deits 68 B te® ¢ g8 &6 veam Ba &7

1y Gevsdsin | —4 Bevelion Benah HISW (D Dhnh & 9 Lal sidhsenel SHLeNeudsil HIL LI Gailang)?
How many times does the music of bars 1 — 4 appear in the same key throughout the piece?

(ix) @b om0 17 goc@e D= egdzn om0s PR D D3 D g 8. & ae goe Edmed 880 «lin exoczio.
unj @evchaib 17 @el oyiiniibeid GpediLinh ugd NG Gamassin. CauaBib. SIshaTs Hansuisd
2 i @ 80 il griullear 6iGs.
The second part of this picce. commencing at bar 17, should be repeated. Place the repeat signs at the
correct place in the music.

(x) @b gom 17 &2 18 8 668 = 2ile@nBd £18dc 380 ol o 2929 30 scezslema 0 &8 o
s8N mn cinedne:s aqhxl wosio.
ury Beodsd 17, 18 galweubeans 1) Sevdad 29, 30 gfuanmsdmLBu ahow, emTIGTald
Sl ssiameon 9UITLE oeubilseiesn F @Hs SamoDLUD & Gamnn’ L Seiisniwenu b
GMNNIGs.
Compare the rhythm and harmonic structures of bars 17 and 18 with bars 29 and 30 and write a similarity
and a dilference.

................ Rigthmic  patterm  is. the sawe Notes ave wove in € )
Melodic... pottevn. . is. diffexent,Netes are ‘knwquua! __________
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LSSV Ar SAIAIARs Ay AR - Aw -

Aexmoe /usp®l A/ PART A

B® gd» eCOBO BEno; soausin.
stenanGuispnd @@ slleonbmeibha@ sllen wsdldbas.
Answer any two questions.

2. () Eb e®dbc 8§ 8desiocn o8nb qgbedive oy Medive quced edidd Sdeund qne Fdecs S
Burim. 088 Bdezlbdw qinest oosim.
E’ Guogmy avBsamen & AdGadam st owiB)nment Bynment sugailed Beumsderd aihsmdhmidBamnu F denei
@60 s1appih. oy AeEBasaeangd Baydas.
Write the E° major scale with key signature, in descending and ascending form, using F clef and

the rhythm of a waliz. Add the time signature. .
| — —

- 1 1 1 1 1 } 1
e 3
ML I L
(i) G eosloen8s deded 886 ewig 05823 § qif 088 Bderitcwd vgeom B¢Oemd gmd ab 4o
oo H@ness mouim.
G GuamGrails sioBselel srosuImimemen LWILGHA HITnN BGeiten angib HdbBa1ds(hb@l Gt N hHHIT6!
abhBHhoHibsemoul 4 1 SeThaaTer CIosol) eleNN 6ILpG:IS.
Write a 4 bar melody using notes from the G pentatonic scale, in a rhythm to fit the given time signaturg,

= = 1 = — 3=
[“3"‘ ’ Ca 2 e — —

(iii) § 318 e®clc 9ell o o€ efd Jecd de G dw A e@dded @3¢ O oubs BT
7 58e0530¢ exugsin.
SHIUUL Geiten Guosvigenus Guerd Hlsmisit Fsd S HBysi Bipna siupd), Sens A Cugpfisd galaumib allgdkhRHed
aflumen sbheniGr aied GojhE5.

Transposc the given melody an octave lower in the Bass clef and add correct accidentals to make
this melody sound in A major.

a8
|
1 z
7 Y—113 b S .
q- I 1
| =

3. (i) § o oo» g eSesnedinas ©dn nd8sl 8decs Eosim.

SO Geiten Ganfivn@ebde, GasiBGyisi eeitenmll 1IN IG5 FhHOIASBNG sI1pHIs.

Write a rhythm pattern on a. monotone to the given words.
I love a lonely winding road
That takes me where | cannot see,
Until each softly rounded hill,
Reveals its landscaped mystery. See Aunexuve.

William Wordsworth

wedd DITI L S d FTIJb ) b D,

I love a lo-ne-ly win-ding road that ta- kes-me where I can-nor see, Un

~n—J— ¥ LB e e Y O Y e s JJ_“

tll each so - ft - ly roun-ded hil, Re-veals its la- nd-scaped mys-te -
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UL PR FI™FAILI A Li" Ry A -—

(i) con 2 ¢ e9che ¢t ¢ 850 gous =o =308 47 af) <00 gdd=in. qoe 088 Bdeditsw
on @l e85 ewigis. 098 B Lo HY =n ¥ =20n adle gor Bos B noHH.
iiaigpd Gueng @sd HI0LC Galten abany GuBIOTETHSEI. BTG ausvsEnd@ s alBLlGaen Gn’ ad
@eil WewBSSS. o flu ani H3CsFsT. uT) aflsemand Gojbgm. BHwed £ Gedl G eoyu i
@evs s sl o fdhsrgn um_sdel GuusTLIE GBS
Complete the melody given below, filling in the missing notes according to the note values and intervals
indicated. Insert the relevant time signature and bar lines. Name the key and the name of the song.

(a) Perfect 4" above (b) Major 3™ above {(c) Major 6" below

{d) Minor 3™ above (e) Minor 7" below (f) Major 3" above

(a) (b) (c) (d) (e) (f
Kcy:i_@}ti:o_V Name of song: Flow Ge.nﬂq Slnllet A‘P‘t'ﬂﬂ-
<

4. (i) (a) e® auDed cove oSt ot qio. Sthed ondd go Bw 8 3T,
deeumic GUUINID eapdim Gaumui' L GaLaied o _siisusl. opeuiyfest G’ @piluiGsenamu i
GesLsierden G nusnyu D STALGHIS.
There are three different cadences in the following extract. Write the chord indications and name
the cadence.
(b) oo @Y S sBpba S0C BuCE £50 gous ¥Po I8 s oStTines B »E
DIsIB.
Bnid 1T Bl TeULBHSHIIEN I TLmar soayll GUIITET RSN LILESLGHS CUTHEHDHLOTS
Cai e Bevell siwd. B Guwengd @Gl IBs.
Complete thé last bar with a suitable cadence, using correct note values and name it.
/_“\ /_ /‘-’-—-—\ 2! b
—— ] =

LI
-

i I

,
A
N
N
I\
—
M
Hw

8
=

ra

<
# —'T\T_

I L 1 (— |
P‘oaa’;- l (1) Iuwm_, I“*"“*Hlll) Perfect av)

(i) can 2 g8 =80 DHROO 98 eealul oescy SHCdns wded Eodin. creenm s08e, eds8.
0 6885 o8nla e®E2ul sasin.
HIOULGeltsT  Giosvgedt 983 LTRADEGH Gunibbpunw sysiFfo 176)e0 Caybai) YIemiLIBHDIS.
WisRn L&A Giosvigdxdil GuTmGGoTe GrbGuT, 118)Sm, e enddad Cafdbes.
Complete the melody by adding an answering phrase in the same style. Add suitable marks of tempo,
phrasing and dynamics to the complcte melody.
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B e=oow /ug® B/PART B
Oz ® DEm eCond B8R scosls.
siemanBuignib BreH® slanbseEnbea aflsni s,
Answer any two questions.

5. (i) 0ad e 8 Eg e®cie willedimnd 858 mco edd delbS ol gesne®st (20 8 guobd,
etnoh 850, 888 ol empdd ecw B{Ecs aqg o0F oo,
L Ogiilel dlensit @ed siapminn L Giceogen emriwepaed Gowiug e Guav enjier Hed ® @Gymisti
BeobadhHeueitan Lyuiherd, QLI BE Weliberh, Balicanh opbeosl GBI ab siel hHhHIbG JiLl a1PEID.
Write the triads shown by the Roman numcrals, accordingly as dotted minims, minims or crotchets in
the Bass stave to harmonize the melody written in the Treble clef.

I = - s — == < =4
W e - g ) r:/""_""-w; .
Biuyas — =
I I — - )

| l L
| IVb ii Vb Vv’ I

(il) 8 comed fm Soed T i A08S =udn <00 g8 03Re 00 $Lo gedmuion HOTH.
Beomanauisl Baflul BHHHO SIULLEsTen CeneviBHil FHES aba] s, WenpHBHIL FRIAD
sTheuy  susYILITE 1Nl IENIDDEG .

Convert the given phrase in western notation of the Sri Lankan Anthem to oriental notation.

"

g\‘? [ -;'l— 28| 2@ =@ |z2 55|

@
-2 |5 = 15 -2ls 519 %9 o —1—+]
= S5 5 = ==
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6. (i) § 318 el &2 ¥dn 0B PP =80 aetis eadd Lol PO »vOn Euzis.
gy’ Galten sH@yai @enanils LLGIUGHS Bihs Bensd, wiediLshBHear Cagn’ edGaTT (psmulsd Beiib
I D,

Re-write this passage in short scorc using the given stave.

1 A I ~
i ] I T ! | — =
——— T — ) — ﬂ
i ! =
| I 1 |
N ()
T T 1 e i
| > —= = = 2 > 1 i |
! 1 1  —— i  —— — - 77 i
= - - = I
| 1 " () | | | | ~
e e e e e ——
- — ;
| | i r E U ~—.
i NG
| ‘i é ’]
- - e 1 1 i l_:__ ’l' - 1 1 F 3
| — &l 1 T O

¢
¢

(1) (@) Cagd dedged &80, § ;8 dedfed ogac Secd evwg Eosin.
C ysnad at@selell avsujmisenend HIULL Gsiten a0CJel Bat LOTIsh BHBeneit LLIGTIGHS TILH®.
Write the notes of the Blues scale on C in the given stave in the Treble clef.

{ o
{ = Aw

A
(b) & eeBned Biges cdsmasd sens! no=i.
21 Savsuial peasw usibLsIdDs GG

State an important feature of Jazz music.

.Syncopation. and  swing rhythm, Twprovisation, ...
~Tnstrunental breaks 12 bar blues chard pattern using glissand

(C) @emddinnm YDISD 80 cud &85 el ecod 8 o0, St endevst Edmd mosim.
FemagT Hainilsd ey alledn’ GRINELSIbS 2 fu Sosdamelss Byaings GCUWTBmeNES GIFNI 6,
DUDIDF F(HBEBIOTE alauflags.

Name two instruments that belong o the woodwind family in an orchestra and briefly describe each.

(1) . Piccolo,  Flute, Oboe Ewuglich Hovn Clarinet Bassoon

............... S REE A i gzt iy otk A s S s T, LA R
LSl AMNMEXUYE. e
I I I T T—_————
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7. (i) con § 88 0B dnd cpuies 2808 s nisin.
ABip s Beleneufpiled aBaub @einfienst o SHeinseTLaE allaufligs.
Explain one of the following with examples.

) Vannam, Raga, Prashasthi
Vannam is a form of poetry associated with Kandyan dance forms. It describes cln.in-':ah; Objectgrengind dancer:
perform to these background songs. There arc |8 vannams. E.g. GajagaWannama, Thuraga, MayuraWarinama etc..

Raga is a form of a scale used in the Hindusthani Classical music. Each raga has a given set of notes which helps to creat
a specific mood or atmosphere unique to a rage. E.g. Bhupali, Bilawal, Yeman, Kafi, Bageshree etc.

Prashasthiis a form of written poem or prose composed by the court poet to be recited or sung to please or praise the
king.

E.g. Waramathisubacharithe, Deepadeepapathi, NomadithVikumpa, Lakshmi Buhujana ye, Chandanandakumkumaanjana
(1) =D =B e $O2 g 2B ss’ o8 nisls. l

Lslianchih sybsmussiar @and i@ bisemear GULITHesT 610 His.
Write the name of the composer of the following compositions. |

Composition Composer
1 | Young Person’s Guide to the orchestra | Benjamivn  Britten
2 | Rite of spring Tqor Stvavinsky
3 | 'lhe Entertainer Scott Jeplin.
4 | Rhapsody in blue George Gershwin .
(iii) (1) =8€ =Bt S8 goumd gudf ¢ 7

Gy HITERG absd HTOHHDBE o faTunEn?
Into which period do these compositions belong?
Modevin Feviod .

........................................................................................................................

(b) 288 goud emug & coiee e =THy mIEiL.
@BsaTadHBGiL BNl CUTHIL UsSILEb®mend GIIULTIBS.
State two common leatures of this period.
Chvomatic havmo “y,. Unusual cound effects Dissonawnt  and

............................................................................. g e s L LLITRRL R

often harsh Syncopated vhythwm, More percussion sowsds

Iwprevisation Auwality Polytonality whsle towe scales

................................. e

Nete  cluster Folyrhythw Twelve tove techmigue, ...

(iv) 2083@ B8 geensss st 9floside® 8805mmE (SHstn. (s oD DeDIee, vied o
e Deduc®, edenill oEhs® offod Do sboe)
L sneney e SBIEnS STl LBIGGLTBDIeNAgNsTen  (ndauihaimibandd  @pfitn iGaH. (1im amenean
BT Ea1p. LN ST auldhH UGG, CJHCHN § Gig UBGUDHID SHensd [HbIDaybsi)
State the value of participating in school musical performances. (such as school choir, school band,
and recorder group concerts)

% Twpoves. leader chi - SO TP |
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1 love a lone - ly win-ding road that takes me where I can-not see, Un
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tl each so-ft-ly rou-nded hill, Re-veals  its la-nd-scaped mys - e ry.

Question &C)

Instruments of the woodwind family

Piccolo, Flute, Oboe, English Horn, Clarinet, Basscon

Flute: It is the oldest of all instruments that produce pitched sounds (not just rhythms), and was originally made from
wood, stone, clay or hollow reeds like bamboo. Modern flutes are made of silver, gold or platinum; there are generally 2
to 4 flutes in an orchestra. A standard flute is a little over 2 feet long and is often featured playing the melody. You play
the flute by holding it sideways with both hands and blowing across a hole in the mouthpiece, much like blowing across
the top of a bottle. Your fingers open and close the kevs. which changes the pitch.

Piccolo: A shorter version of the flute is called the piceolo, which means small in [talian. At half the size of a standard
flute, piccolos play the highest notes of all the woodwinds; in the orchestra one of the flute players will also play piccolo
if that instrument is required. The high piping sound of the piccolo is also heard in traditional drum corps and marching
band music.

Oboe: The oboe is a 2 foot long black cylinder with metal keys covering its holes, and its mouthpiece uses a double reed.

which vibrates when you blow through it. This vibration of the reed makes the air inside the oboe move, and thus creates
sound. To play it, hold the oboe upright, blow through the double reed in your mouth, and use both hands to press down
on the keys to open and close the holes and change the pitch. There are usually 2 to 4 oboes in an orchestra and they
producc a wide range of pitches, from haunting sounds to warm, velvety smooth notes, which make the sound of the ohoe
very memorable. In addition to playing in the orchestra, the first oboist is also responsible for tuning the orchestra hefore
each concert. Listen for the special notc "A" that the oboc plays before the music begins.

English Horn: Despite its name, it isn't English and it isn't a horn. The English horn is actually closely related to the
oboe, also uses a double reed, and is played in the same manner. It's longer than an oboe and its tube is a bit wider. At the
bortom cnd of the English horn it opens out into a rounded bell shape, which gives it a warmer, fuller sound. Because it's
larger, the English horn also has a lower pitch range than an oboe. An oboe player will also play English horn if it is
nccded.

Clarinet: The clarinet could easily be mistaken for an oboe, except for the mouthpiece, which uses a single reed.
Clarinets come in 2 number of different sizes, and the standard B-flat clarinet is just over 2 feet long. Some musical works
require the clarinetist to play several types of clarinet in the same piece. The 2 to 4 clarinets in the orchestrz play both
melodies and harmonies, and they have a dark rich sound in their lower notes, while the upper part of the clarinet's range
is bright and resonant. You play the clarinet as you do an oboe, by holding it upright, blowing through the reed, and using
your hands to change the pitches by opening and closing the keys with vour fingers.

Bass Clarinet: This is the grandfather of the clarinet family. The bass clarinet is'so lurge that its top and bottom are bent
to make it easier for musicians to hold and play. Its greater length allows it to play some of the lowest notes in the
orchestra.

The bassoon is a long pipe. doubled in half, made of wood, with many keys. The bend in the pipe makes it possible for
musicians to play it comfortably. If it were straight, the bassoon would be around 9 feet long! Like the oboe, the bassoon
uses a double reed, which is fitted into a curved metal mouthpiece. There are 2 to 4 bassoons in an orchestra and they have
a similar range to that of the cello. Basscons usually play lower harmonies, but you will sometimes hear their hollow low
notes featured in a melody. You play the bassoon by holding it upright and blowing through the double reed. The air
travels down the tube and then makes & u-turn and goes up and out the top. Just like the oboe, you use both hands to press
on the keys 1o open and close the holes and change the pitch.

Contrabassoon; It is a longer bassoon with a wider pipe. The contrabassoon is the grandfather of the wind scction and is
so much larger than a rcgular bassoon that its tube is doubled over twice to allow the player to hold it. It takes a lot of
breath to make sound come out of such a long pipe! The lone contrabassoon plays the lowest notes in the entire orchestra.
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